Proportionality and Linear Relationships

IndependentiPractice

Solve each equation. Check your solution. (Eamples 1and3)

12. 9x =54 13. 0.55=—60 14, 64 = —04r

B -72=3 Y 16. 03x=—45 \- 17. 4.95=03t Y445z 0.3 T
\ 18. —8.4 = —6g 19. —28=—-d 20. 1b=—108 ;:53?‘“ i/_f?__

21. 16 = —1b \l 2. —Ix=-4 23 —3=-3s “c?_“j' 0.3
N2, =2 \| 25. — k=72 26. 2n=-22 a

27. Rashid picked a total of 420 strawberries in % hour. Write and solve an equation to
find how many strawberries Rashid could pick in 1 hour. (Eample2)

28. Financial Literacy Marcus wants to save $378 in order to buy a new electronic 5 5 w1l
keyboard. He plans to save $15.75 every week from his paycheck. Write and solve an é_f-? B, e
44. equation to find how many weeks Marcus will need to save. (Example2) 2 >+
1 =
pas 3= ?:m Solve each equation. Check your solution. /o # sl
29. 5p—2p=-12 30, 42=4x+ 3x 31. —2(6y) = 144 r___----—-""_ =
'(:35),’ ( qm) 32, 72 =—12(-3x) 33 ;=-25+9 M, o=—5- 13] 25 [""ﬁt K* yES
: 0
f 1 35, 1n=2 36, >=—1x a—or==1z | [L1 o
3 9 8 2 9" | | (i | = A
B gl A _T=_28 | [-78) /O
2 (_}) =M 38. 18}!—42 39. 23 =—9m 40. gr— 36 .'l L
4 — g
41. The sleeping heart rate of a black bear during hibernation is about % of its summer | 73 - (‘T{-J\
S rate. If the sleeping heart rate of a bear is 28 beats per minute during hibernation, | "
a7 find the summer sleeping heart rate. o, ke ﬁ?.
| 7§Z i ( :‘;\ | l
42. Use the table to help you write and solve an equation. ; National Park,
a. Jenna hikes at a steady rate of 2.5 miles per hour. How long will Wyoming
it take her to hike the Lone Star Trail? Name of Round-Trip
b. It takes Ming 4 hours to hike the Mallard Lake Trail. What is his Tl | igaoe i) |
average hiking rate? Mallard Lake 6.8
¢. The round-trip distance of the Observation Point Trail is 56% HowadEaton | 28
of the round-trip distance of the Mystic Falls Trail. What is the Lone Star 48
round-trip distance of the Mystic Falls Trail? '
Observation Point 14

43. 1@} Use Math Tools A student solved the equation %m = %

and found the solution m = 459. Use estimation to explain why the student's
solution must be incorrect.

P

44, EE}; Identify Structure Explain how to use the Multiplication Property of Equality
to solve %y = 6. Then explain how to solve the equation using the Division Property
of Equality.
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27. Rashid picked a total of 420 strawberries in % hour. Write and solve an equation to
find how many strawberries Rashid could pick in 1 hour. (Example 2)

&
L 00 STRUIBERKES s 7 Houk =

%90%'{{#;40@';:80@
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‘m‘ ﬂ&‘i’é Multiple Representations Every autumn, the North American Monarch
butterfly migrates up to 3000 miles to California and Mexico, where it hibernates
until early spring. Suppose a particular butterfly travels on average 52.5 miles per day.

a. Symbols Write an equation that represents the distance d the butterfly will
travel in t days.

b. Table Use the equation to complete the table.

}_nme(daysa a2l a]e]ls]s
‘Distance[miles]_l_l I‘l l:l

¢. Graph Graph the points from the table on the coordinate plane. Graph time on
the x-axis and distance on the y-axis.

d. Graph Using the graph, estimate the number of days it will take the butterfly
to travel 475 miles.

e. Words How many days will it take the butterfly to travel 2100 miles? Which method
did you use to solve the problem?

46. The formula for finding the area of a triangleis A = % bh, where A represents the area,

b represents the length of the base of the triangle, and h represents the height of the
triangle. Write and solve equations to complete the table of values.

Area (4) 15 15 15 15 15
Base (b) 1 2 3 4 5
Height (h) o] a ] E 0=

@ H.O.T. Problems Higher Order Thinking

=
47, T-Efg% Model with Mathematics Write a real-world example that uses an equation
containing a decimal and a fraction. Then find the solution.

o
48. ﬂﬁ§ Find the Error Sam is solving %x = —20. Find his mistake and correct it.

20 /3 (0.7
%k+4=-g?.0+4 5 (f0m>(
e [ m

m:

49, @ Justify Conclusions When you solve an equation of the form px = g, where
pand q are rational numbers and p = 0, is it ever possible for the solution to be 07

If so, when? If not, why not? Justify your conclusion. me (0, 75) 2
ss . 3 : 2 /5
50. Q_jv Persevere with Problems If = x = 3, what is the value of 7x + 13? m

51. @_. Building on the Essential Question Suppose your friend says he can solve
3x = 15 by using the Multiplication Property of Equality. Is he correct? Justify
your response.

328 cChapter8 Equations and Inequalities



